


"ON| ELNYLINENOD aNaIing *

MY vi0OZ g

2G811—3 # NOUVMLSIORN 340 AUVOLILLYID SNOISIAZY
SHIINIONI TYNOISSIJONd JO Quves SYIEL SHYLIA TINVE 8000 A8 31v3 [ON} & wl © 7m
—|uslx
LBLE'ESH'CLE FON ®Uoug . dix|P] g
CBSEE 1t oormbr OCE KO8 o M\Sv@. KTBWIS5Y H0 18vd W = 1P e s
. ] o
ONI "SINvLINSNOD oNIain ¥0Oa WIDYINWOD 133LS =3 I 1S IO L 2_
el &
£Z1¥0L¥ 3d SWGEL WAQY—T¥0 R =i H m : e
‘I'd 9PIWLYES 5 uopudl  :4g peupdeug musWRooQ Ionaoaa < w H W m w
=
Q
[ ==
O
L
L7
PP
vy
o)
&
9
t
<2
ulo
_ SIS
i
>I8
(2 mw

@
o
F j:m.ﬂ._.l'
* —l=—L0C
]
!
i
z 0
v L] .
% I peGA = .
o [ _— 3 2
m E“.&O.o m [ m
w O|G in U
5 w o M.m < =
Z i, 2l
3 == S|
: w . Bw o | vy
m N ..W@0.0ll“lll “Dm @
2 8lz
xxl_ —
38 Em i
b in |5 5|8
Q i
¥ #
“y
w ] i m
[
3 1
—
= |
e
S *
=]
213
mw e _-m.&m \VIII
=
P _ ~Z
e e
L=
g 8¢
< ga
= & 1@ e .._.w.d
5L o & L | = I
| o S| =8
Ty WL
e ase N 52 8 285
¥ S T — =2t - 5 S>3
b T = £5<
r..m&._L < = ol > MG
(@] in Q .l..qu
: 2 :
— — G.l.l_..—l
L | S 2 <o
....... il “WE
— =z o4
. “L ('dAL) O 2<%
AT = s ﬂv mmm
83
IHDEH ANV XYW 066 oo &
ww O
56O

'L BMPPTOZ SYXILNUaLIND\SBUIMEIQ\[EMaURY 771 - IAL\SUT 4O 1030 $2X3 [\MIN [2A0y-ED\SIUBID\IEMH\SSIZTOZA




\2012ess\RWBC\Clients\Cal-Royal NEWATexas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 7.3

NOTE:

i. PANIC BAR SET SCREWS (#12-24 x 5/16")
MUST BE ACTIVATED TO ACHIEVE IMPACT
RATING. LOCAIE ONE SCREW AT THE

END OF EACH PUSH BAR.

ID

SEENOTE

(27
3/

4 - .
- [

EXTERIOR

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.6508.8197

P

INTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

N

EXTERIOR 2] "
TE A F
e o
2 ; §
// £ ‘g
. g
5
E X
3
@/ [a]
[0
INTERIOR S
°l ¢
=
£ W[5 S
HEREN
| =
88|37 28
y T
& B
= =
O o
[ <L
MORTAR REMOVED i -
FOR CLARITY >
om
/~2 "\ HORIZONTAL CROSS SECTION
\;_3/ Masonry Construction
Masonry "Tee" Anchor
wn
z
o
7]
I
0
Ll
<
(i}
.lo
z
DATE: 10/1/14
SCALE:  N.T.S.
DWG, BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4486

BUILDING COMSULTANTS, INC.
P.0O. Box 230 Vvalrico FL. 33585
TEXAS BOARD OF PROFESSIONMAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

SHEET 3 oF 7

© 2014 R.W. HBUILDING CONSULTANTS ENC.



"ON{ BLNYLTIAENOD BNIgiing "mM"® + 102 @

TGELL~4 §F NOUVMISIOAN 40 FLVOLLMID SNOISIAZY :
SYIINIONI TYNOISSIJ0¥d 40 aQuvos Svxal SNOLLDIS SSO4D TWOLLYIA AH 31v3 JON + vlxlo| © 7_
LBLE'6G9°CLE "GN euoyd - : "= 0|,
SESEC 14 OSMIDA OCZ %08 ‘03 \SV@. IGW3SSY 0 Lovd W M ~ 5 I|°
*ONI 'SINYLINSNCD ONIgINS Yood WIOYNIAN0D 133US m . “ VWA A._
. TWAQH—TVD AL .
CZIHOLE Td SnAL Ll K.w ]
‘'d IPIWYSS "4 UOPUA]  :AQ peucdeug sjuswnsog 19N00yd S m HEIE #

INTERIGR

/ 2\ VERTICAL CROSS SECTION

w Qutswing configuration

EXTERIOR

INTERIOR

ww

e

/ 1"\ VERTICAL CROSS SECTION

EXTERIOR

¥ ¢ ‘BMPHTOZ SYXALNUaLINO\sBumeIQ\[eMaUSY T4 - IQ1\SY] J0 IdBQ Sexa [ \MIN 1240y -[ED\SIUBD\DEMYNSS2ZTOZ\



\\2012ess\RWBC\Clients\Cal-Rayal NEWATexas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 7.5

. A

MASONRY
OPENING

6 (TYP) % —
A ﬂ-[—- - 4'(TYP)
{ A

|

SEE DETAIL 1

HEAD & JAMBS
{TYP.}

SILL
SEE DETAIL 2 {TYP.}

N
- =
SEE HINGE
DETAL (TYP.) b AT

y 2
(N

12" (TYP.)

oy —

v
v

25.25" MAX. O.C.
{Tvp)

L 25.25" (TYP.) —-J

g
ok

16.25" (TYP.)

T
v

11\’\:1 i
Ny

s .\ o ve) o]

CONCRETE ANCHOR NOTES:

— 4" (TYP.}
4" (TYP)
FRAME ANCHORING
Masonry Construction

Concrete Anchors

1. Substitution of equal concrete screws from a different supplier may have different edge distance and

center disfance requirements.

2. Concrefe screw locations at the comers may be adjusted to mainfain the minimum edge distance fo
mortar joinfs. If concrete screw locations noted as "MAX. ON CENTER" must be adjusted to maintain the
minimum edge disfance fo mortar joints, additional concrete screws may be required ta ensure the

moximum on center dimension is not exceeded.
3. Concrete anchor table:

HOR -

4.2

4. Embedment may be through 1-1/4" face shell of hollow block.,

" 6"

(TYp)

| @

HINGE JAMB

W\

b\
W

_—
DETAIL 1 10

Vertical rod latch strike plate
@ head

/i
"

=)

R

743y
\[]]
\/

¥/
L/}

HINGE DETAIL

A/

=5 JD‘.- I =’E€l B

DETAIL

Vertical rod latch strike plate
@ sill

Lyndon F. Schmidt, P.E
TEXAS P.E. §104123
P.0. Box 230 Valdco FL. 33585
813.650.9197

BUILDING CONSULTANTS, INC.

Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATICN # F—11852

R

Documeanta Prepared By:

x
s
]
° =
x
< Qo
S8 | &
¥ (g 2
22 |3 &
S3 |l 3
R L
o LLII:.IJ fid L
=
(]
S E
x e
o o
5
m
N
P
o
4
o
|6
-
<
0
o
z
oate: 10/1/14
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4486

SHEET 5 ofF 7/

@ 20714 R.W. BuiLbiNG CONBLULTANTS INC.



\\2012ess\RWBC\Clients\Cal-Royal NEW\Texas Dept of Ins\TD! - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 7.6

4 (TYP)

11th JOINT

4" fTYP)a?
7 _\-—

Fth JOINT

7th JOINT

5th JOINT

3rd JOINT

15t JOINT

L

SEE DETAIL

HEAD
[TYP.)

MASONRY "TEE" ANCHOR LOCATIONS {4) TOTAL PER JAMB

JAMBS
(TYP.}

{JOINTS MEASURED FROM BOTTOM)

SEE DETAIL 2

SILL
(TYP.)

A

SEE HINGE
DETALL (TYP.)
N |
11th JOINT
> .
T &
9th JOINT =
7th JOINT EE j
a
[
2
5th JOINT 23
3rd JOINT
15t JOINT EEE

CONCRETE ANCHOR NOTES:

& (TYP)
—=

4" (TYP.)
4 (TYP.)

FRAME ANCHORING

Masonry Construction
Masonry ‘Tee" Anchors

1. Subsfitution of equal concrete screws from a different suppiier may have different edge distance and

center distance requirements.

. Cancrete screw locafions at the corners may be adjusted to maintain the minimum edge distance fa

mortar joinfs, If cancrete screw locafions noted as "MAX. ON CENTER" must be adjusted to mointain the

minimum edge distance fo mortar jainfs, additional concrete screws may be required ta ensure the

maximum on center dimension is not exceeded.
3. Concrete anchor table:

16"

— -]

{TYP.)

HINGE JAMB

| @

\
DETAIL |

Vertical rod latch strike plate
@ head

L\
h\
W

Lyndon F. Schmidt.”P.E.
TEXAS P.E. 104123

B813.650.8197

/7
/4

7

A
J°°%
oo}
\
\/
®

AI
_HINGE DETAIL

-!Dl ! .’Dl =

\
DETAIL

Vertical rod latch strike plate
@ sill

P.O. Box 230 Valrico FL. 33585

BUILDING CONSULTANTS, iNC.

Documents Prepared By
WPhone No.:

TEXAS BOARO OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION § F—11852

CAL-ROYAL
STEEL. COMMERCIAL DOOR
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

NOJ| DATE

DaTE: 10/1/14

SCALE:  N.T.5.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4486

SHEET 6 oF 7

© 2014 R.W, BUiLDING CONSULTANTS ING.



BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL
C | 1/4"MAX. SHIM SPACE -
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C%0
F 3/8" PFH ITW DYNABOLT SLEEVE ANCHOR STEEL
G | 1/4"X2-1/4" ITW PFH CONCRETE SCREW STEEL
H #8 X 1-1/2"' PH WOOD SCREW STEEL
J MASONRY "TEE" ANCHOR STEEL
| CAL-ROYAL DOOR PANEL -
3 | DOOR BOTTOM CHANNEL STEEL
4 DOQCR TOP CHANNEL STEEL
5 LOCK BOX REINFORCEMENT STEEL
6 CLOSER REINFORCEMENT {11 gauge) STEEL
8 WEATHERSTRIP - PEMKQ 303A NEQOPRENE
? TUBE ANCHOR STEEL
10 | #12-24 X 1" COMBINATION MACHINE / WOOD SCREW STEEL
11 | DOOR SWEEP- PEMKO 3151 PVC
13 | WEATHERSTRIP - COMPRESSION BULB 1/4" X 1/2" [PEMKO $88) NEOPRENE
15 | #8-24 X 3/4" COMBINATION MACHINE / WOOD SCREW STEEL
20 | #12-24 X 1/2" PFH MACHINE SCREW STEEL
21 | 4-1/2"X 4-1/2" X 0.125" TEMPLATE HINGE STEEL
22 | DOOR HINGE REINFORCEMENT STEEL
25 | HOLLOW FRAME 2" STEEL
28 | FRAME HINGE REINFORCEMENT STEEL
29 | DOOR BOTTOM REINFORCEMENT w/ STRIKE PLATE STEEL
42 {1 OUTSWING THRESHOLD - PEMKO 2001P ALUM
74 | CAL-ROYAL 7700-V SERIES VERTICAL ROD EXIT DEVICE -
90 | VERTICAL ROD LATCH STRIKE PLATE @ HEAD STEEL
91 | VERTICAL ROD LATCH STRIKE PLATE @ SILL STEEL

=

575" }‘

0.24" ﬂ

— e 0,058" .
o
i
et — | '56" [N S 2.25" e ?3
o
@ HOLLOW METAL FRAME O

No. 6 x 5/8"
PPHIMS @ ¢" 0.c.

. WEATHERSTRIP
Pemko 303A

O

278" !

I—— 1.83 —’J

e ].75" e

1" DIA, HOLE

\

k™

PR

g e

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

2 + +
—~— 1.5" 35" e
g.125" - .
g 5
}"" 1.75" ‘—| T T
| f 2
i" 9.875" j T
@ MASONRY 'TEE' ANCHOR
é I
? o~ 27"
| T 1 014
2R —— 125"
| EE f |
‘ 3,_%. I 0.62" —=i
| N I
! i %N L \ %
1.0" ‘ 2«, T
, : 1
M S &
L/ 1 _
— 5
| s - @
TUBE ANCHOR 3= )
O &
‘-'-[ 08" r-k
P == %
o o =
- _t :

3.68"

P.O. Box 230 Valrdco FL. 335985

BUILDING CONSULTANTS, INC.
Phone No.: 813.658.8197

TEXAS BOARO OF PROFESSIONAL ENGINEERS

R

Cocuments Prepared By:

CAL—-ROYAL
STEEL COMMERCIAL DOOR
BILL OF MATERIALS AND
COMPONENTS

PART OR_ASSEMBLY:

PRODUCT:

BY

23—

THETE N

o o7

FAN

b &

gmanmIn

027" —~ [=—

20 VERTICAL ROD LATCH STRIKE PLATE

(Y VERTICAL ROD LATCH STRIKE PLATE

@ il

@ Head

U D—

NO| DATE

pate: 10/1/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

@ FRAME HINGE REINFORCEMENT

22 DOOR HINGE REINFORCEMENT

DRAWING NO.:
TX—4486

SHEEY 7 oF 7

\\2012ess\RWBC\Clients\Cal-Royal NEWATexas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 7.7

CERTIFICATE OF REGISTRATION # F—11852

REVISIONS

© 2014 /R.w. BuiLDING CONBULTANTS INC.



